A & Z M A
e =& 2 3 ESH &AL <
B2 M
NHSAEES
NHAMENE A (ctel: &
SA - BE - BA(EA) - NRAY - BES 0] & 08 o1 o HIREY
2 2 1t 4,498,065 4,113,299 384,766
= 81,036 81,036 0
& 455,000 455,000 0
J| 10,266 10,266 0
= 26,970 26,970 0
= 3,924,793 3,540,027 384,766
HEtdeEs 995,347 955,750 39,597
L= 7,000 7,000 0
i 988,347 948,750 39,597
NHAMEHE A 889,770 884,770 5,000
= 7,000 7,000 0
= 882,770 877,770 5,000
olerdel Dt Z &AL 19,000 14,000 5,000
& 7,000 7,000 0
= 12,000 7,000 5,000
401 A& HIZ 20| 5,000 0 5,000
01 Al£Hl 5,000 0 5,000
ootad =9 EX 500, 000& * 1074 & 5,000 0 5,000
S22 AR 105,577 70,980 34,597
Y3322 105,577 70,980 34,597
101 @124 d| 1,110 0 1,110
04 JI2ZtMI2 2 XS 1,110 0 1,110
O&=MHEY 37,000 x10 3L 1,110 0 1,110
201 et A | 46,367 45,980 387
02 E=2ZHl 43,867 43,480 387
O&=MHHY 1,935 102 %20 4 387 0 387
401 A& HIZ 2 CHYI 57,500 25,000 32,500
01 A& HI 57,500 25,000 32,500
OSL3& KA&tSAH EXI0HY 32,500 0 32,500
405 RHobFE S HI 600 0 600
01 ML EEHS 600 0 600
odg 3FaJ| 600, 0003 *1CH 600 0 600
st MEEA 464,240 463,240 1,000
= 77,150 77,150 0
| 10,266 10,266 0
L= 16,526 16,526 0
= 360,298 359,298 1,000
gty ztel et 86,670 86,670 0
= 24,000 24,000 0
= 7,200 7,200 0
= 55,470 55,470 0
JEARE 28 F4 12,000 12,000 0
= 6,000 6,000 0
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DA HB . C(SIH) - NRAY - BYS O &t 04 7|5 o HRE2
i 6,000 6,000 0
201 Et2Ed| 7,000 4,000 3,000
= 3,500 2,000 1,500
i 3,500 2,000 1,500
01 AtR2tel 4,000 3,000 1,000
OO AEE 28 & 4,000 3,000 1,000
—WIIEAE"IS 28 7Y
50,0008 * 404 2,000 1,000 1,000
= 1,000 500 500
= 1,000 500 500
03 At2 S| 3,000 1,000 2,000
Odeeld |A3E = 1,000,000& * 32l 3,000 1,000 2,000
= 1,500 500 1,000
2 1,500 500 1,000
301 LPBAS 5,000 8,000 3,000
= 2,500 4,000 A 1,500
i 2,500 4,000 A 1,500
12IIEEa= 5,000 8,000 A 3,000
Oeleld gs Eo= 5,000 8,000 A 3,000
= 2,500 4,000 A 1,500
= 2,500 4,000 A 1,500
MSE HOIZ2 2el 377,570 376,570 1,000
= 53,150 53,150 0
Il 10,266 10,266 0
S 9,326 9,326 0
= 304,828 303,828 1,000
sEa 2 56,506 55,506 1,000
201 Lyt Y] 7,516 6,516 1,000
01 AR 2t eld| 3,556 2,556 1,000
OlgsstaEsd =5 + 1,000 0 1,000
HY2HZH| (BB ML) 31,984 31,984 0
Jl=&dl 27,784 27,784 0
JI=ZHl 27,784 27,784 0
201 Lyt Y] 16,552 16,552 0
01 AFR 2t eld] 12,772 11,772 1,000
OSMIMII ¢ ZRIE(HANLRYS) 22
] 1,000 0 1,000
02 2324l 3,780 4,780 A 1,000
OsH 3,780 4,780 A 1,000
HPas (2324 2,128,151 1,783,982 344,169
LHEHHXI = 2,125,634 1,783,982 341,652
LHS A chH 2,125,634 1,783,982 341,652
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701 JIEHS HEED 2,125,634 1,783,982 341,652
01 JIEtSIHNEEZ 2,125,634 1,783,982 341,652
O=ZIMNEEESH HEZ 986,683 646, 181 340,502
— NSt ZE HEIAE 2HIREZ 106,000 106,071 AT
—HASASLHAL DHED 15,000 115,071 AT
—HAS BT HCAE 2HREZ 10,000 9,857 143
—&H(3EH) St== & HIAIY 43,600 43,542 58
—olEDtSot=S A 4,300 3,857 443
— &= (3ot =2 HBHIALY 300,000 0 300,000
— MBI AT AL FOIXIH AL 40,000 0 40,000
OM4cSHIH HE2 1,150 0 1,150
~RESAE AATQD A0 PHY MED
1090 %23, 0003 x5& 1,150 0 1,150
2HNE 2,517 0 2,517
ERSPNES 2,517 0 2,517
802 Etet=J|EF 2,517 0 2,517
01 =20n2x3gttezg 2,402 0 2,402
020118 BANRUNILHSEI| 2 LK
195,000& 195 0 195
OO AEHEZSFA 2,164,000& 2,164 0 2,164
OEAEQE QIHEIEXNIZ AL 42,500 43 0 43
02 Al - THIEXZ B EZ 115 0 115
02011 BARZAILHSEI| T MK
97,5002 %8 0 %8
OEAEQE CIMEIEXNS AL 17,000& 17 17




